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Question 1
Question Type: MultipleChoice

How many types of topology change messages are defined in RSTP?

Options: 
A- 1

B- 2

C- 3

D- 4

Answer: 
A

Question 2
Question Type: MultipleChoice



As shown in the figure, SWA and SWB are two switches. Which statements are true? (Select 3 Answers)

Options: 
A- Port0/3 can be an access interface

B- Port0/3 can be a hybrid interface

C- Port0/3 can be a trunk interface

D- None of the above

Answer: 
A, B, C

Question 3
Question Type: MultipleChoice

Which bits in a VLAN tag indicates 802.1Q?



Options: 
A- 0x9100

B- 0x8808

C- 0x8100

D- 0x8800

Answer: 
C

Question 4
Question Type: MultipleChoice

What is the range of VLAN IDs?

Options: 
A- 1~1000



B- 0~4095

C- 0~4096

D- 1~4096

Answer: 
B

Question 5
Question Type: MultipleChoice

Layer 3 switch has layer 2 capability as well as layer 3 routing capability.

Options: 
A- True

B- False

Answer: 



A

Question 6
Question Type: MultipleChoice

What is the function for the command "InterfaceVlan-interface Vlan-ID"?

Options: 
A- Create a VLAN

B- Create or enter VLAN interface view

C- Configure a VLAN for port

D- Configure PVID

Answer: 
B

Question 7



Question Type: MultipleChoice

The link that connects a PC to a switch is ( ).

Options: 
A- Access Link

B- Trunk Link

C- Hybrid Link

D- ISL Link

Answer: 
A
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